
Montlake Math Challenge
January 8, 2009

Happy New Year!

Problem 1:  Do the following computations:

1. 32-22 = ____

2. 42-32 = ____

3. 52-42 = ____

4. 62-52 = ____

Do you notice a pattern?  

Problem 2:  If all of the squares in the grid below are 1cm by 1cm, what area represents 32 cm2?  What 
area represents 22 cm2? What area represents 32 cm2 − 22 cm2?  

What area in the grid below represents 42 cm2?  What area represents 32 cm2? What area 
represents 42 cm2 − 32 cm2?  



Problem 3:  Based on problem 2, try to answer the following questions by interpreting the quantities in 
terms of areas.

1. 102-92 = ____

2. 122-112 = ____

3. 1732-1722 = ____

4. 14922-14912 = ____

5. n2-(n-1)2 = ____


